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3. Pivot rows in first big block column 
on each layer.

2. Reduce to find best pivot rows.
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8. Perform TRSMs
 to compute panel of U
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1. Factorize each block
in the first column with pivoting.

4. Apply TRSMs to
compute first column of L
and the first block of a row of U.

5. Update corresponding
interior blocks S=A-L   *U₀₁. 

6. Recurse to compute the rest
of the first big block column of L.

9. Update the rest
of the matrix as 
before and recurse 
on next block panel...

7. Pivot rows in the rest
of the matrix on each 
layer.
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